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NH3; >PH3; >H,0 >H,S  (B) NH3;>H,0 >PH; >H,S (A)
PH;>H,S>NH; >H,0 (D) NHj3; > H,S > PH; >H,0 (C)
Y<_Producer Gas Ju/ui"_):;',?/ﬂ 77
CO+Cy,H, (B) CO + H, (A)
CO+N, (D) CO+CO,+ C,H, (C)
-e 13§ o —bond U~ POy, 78
16 (B) 6 (A)
7 (D) 20 (C)
-<+3 (Oxidation Number)mdg@/Puﬁfuﬁd;’gzﬂ 79
H3F’O4 (B) H3F’O3 (A)
H,P,0, (D) HPO, ©
f<_twpH=0 ¥ (Aqueous Solution)Jﬁ(_}TJ'/ui"_)“‘}g/ﬂ .80

Alkaline (B) Acidic (A)
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S (Solubility Product)e b##§8, & JL U1-< X mole/Liter (Solubility)S,:J Mg(OH), .

5%3 (B) x3 (A)
2x? (D) 4X3 (C)

-9%2’}§JAtomic or lonic Size U4} 5o
Cl<Mg<Ca (B) N<Li<B (A)
Na* < Mg?" < CI" (D) Ca?* <S> < CI" (C)

:‘L?j’}é‘uﬁ(Decreasing Order)Ln%d/lonization Potential “iLK, Ca, Baui'd::’,?/ﬂ
Ca>Ba>K (B) Ba>K>Ca (A)
K> Ca >Ba (D) K<Ba>Ca (C)

?ugi/CgALWertz reaction d/gd/ufui"_)“’}g/p

Alkane (B) Alkyl Halide (A)

Toluene (D) Alkene (C)
?‘auﬁ;(Linear Shape).:,éwfifufuﬁ‘_):}gzp

CH," (B) ICL,” (A)

CIO™ (D) XeF, (C)

-<Stable ssl i b‘/u[c 9 J; Souh
CHy =CH (8) ez (A)

g~ 6° (D) e (C)

-<(LIUPAC & KPS o

CHgfaH,,"CIH — CH— CH, — CHyq
|

CHq CHO
2-Ethyl -3-Methyl Pentanal (B) 2,3 - Diethyl Butanal (A)
2, 5- Butyl Butenal (D) 3 -Methyl - 2 - Ethyl Pentanal (C)

?ugLn;ﬁrAtomsiffui’ Body Centred Cubic Unit Cell (BBC)
3 (B) 1(A)
2 (D) 4 (C)
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_La(FormuIa),bgL}éJK Bleaching Powder
CHCI; (B) Ca(OH), (A)
CaOCl, (D) CCL4CHO (C)

?‘Ltndbb’“!uﬁPackaging Material /. (Polymer) JV/?/VUJJ/U:J“L?/A’-'
Backlite (B) PVC (A)
Poly propylene (D) Polythene (C)

_La(Hybridization)bﬁb/c/’gf{(Oxygen)uf:ffui' OF,

SN ) sp3 (A)

V7= Uty (D) sp (C)
?Lauﬁ;(Property)ML;d/ Crystaline Solid Vufc;ui'd;’,?/p

High intermolecular forces (B) A definite & regular geometry (A)

Sharp Melting Point (D) Isotropic (C)

e tw AU (Emulsion) oLl (Milk) o

Lactose is dispersed in water (B) A gas is dispersed in water (A)

A solid is dispered in water (D) Milk fat is dispersed in water (C)
‘e dn§ LA e Ut bsomres S XoFg

Distorted Octahedral (B) Tetrahedral (A)

S Ut (D) Octahedral (C)
_é&lﬁ'JBu:ijJ}g/ﬂ

@Uh VAN _ H0T
B IERL T Ly

H : CO0K
" g Gl w
: (HO cHOH
(p)
Y ©
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-<Invert Sugar Lzu/ui'J“;;?/ﬂ
Cellulose (B) Sucrose (A)
Fructose (D) Glucose (C)

?Lat“m;g:d/‘fuﬁ‘fn;’gzﬂPurple ¥ KMnO,

Charge transfer transitions (B) d-d transitions (A)
e (D) n—n transitions (C)

-<—(Conjugate Acid)}}gfi’b/ 0% it souue
o, (B 0, (A)
OH" (D) H,0 (C)

< tt:Bakelite L/'/(React)Jl;k; Phenol,)}bu/ui’;}j:@w
CH,CHO (B) HCHO (A)
CH;COCH; (D) (CH,CHO), (C)

-< Mustard Gas S o
CCI,LNO,  (B) cocl, (A)
CICH, CH, S CH, CH,Cl (D) CHCI, NO, (C)
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